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Question Paper Code : 90474

B.E./B.Tech. DEGREE EXAMINATIONS, NOVEMBER/DECEMBER 2022.
Fourth Semester
Electronics and Communication Engineering
EC 8452 — ELECTRONIC CIRCUITS — 1T
(Common to Electronics and Telecommunication Engineering)

(Regulations 2017)
Time : Three hours Maximum : 100 marks

Answer ALL questions.
PART A — (10 x 2 =20 marks)

1. Though the circuit gain is less In negative feodback amplifiers, why ig it
preferred in many electronic circuits?

2. Shunt-Series amplifier is also called apg ———————"" amplifier and its {ransfer
function ig =~

State the Barkhausen criterin for producing gustained oscillations.

4. Which of the oscillator(s) provide greater stability of operation? Justify your
answer.

5. Which of the two tuned-amplifier configurations do not suffer from Miller
effect? Why?

6. Assume that the output of the tuned amplifier must be coupled to the input of
another amplifier. Suggest a suitable solution to raise the effective input
resistance of the second amplifier, without reducing the overall Q factor.

7. Using pn junction diode(s), draw a circuit that produce the response shown 1n
Figure 1.

Figure 1
8.  Depict the response of an RC integrator and differentiator circuits.

9. If the current gain of the two transistors in a Darlington pair configuration is
90 and 50, find the overall current gain?

10, Sketch the safe operating of a BJT considering its thermal breakdown.




11. (a)
(b)
12. (a)
(b)

PART B — (b X 13 65 mnrka

Give an example of ideal shunt — shunt negative fssidback amplifiers.
Draw its small signal equivalent circuit and dieive the gain with
feedback, input resistance with feedback and otitpul #esisiance with
feedback.

Or

For the negative feedback amplifier shown in Iigure 2 H =,

l;=100uA,, ly=99uA and =5mA; determine A, /i, and Ay Also
determine R, and R, for R, =5 kQ and Ry =4k Q.
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Figure 2

Consider a three stage RC phase shift oscﬂlator and derive an expression
to determine its frequency of oscillation and the condition requlred for
oscillation.

Or
(i) Using any one of the active device, draw and explain the Hartley
oscillator and derive its resonant frequency. - 9)
(i) Calculate the resonant frequency of the Wien bridge oscillator
circuit shown in Figure 3. 4)
+ Ve
+
Op-amp —— Output
0.001 pF =
~Vee
R3
300kQ
R; 2 100kQ
Figure 3
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